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Plot [[' EcFgro’,

"EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-12_0
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P3-12

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:30 283 150.0 2.888 [Z=| 1Ri&e07:30 Bah (FEEESE)
08:10 283 150.0 2.888 |Z=| {Ri%e08:10 Bz (KREAERHE)
09:05 283 150.0 2.888 |Z=| {Ri%e09:05 Bz (KREERHSE)
09:50 283 150.0 2.888 [Z=| 1Ri&e09:50 Bzh (FEEEEE)
10:30 283 150.0 2.888 FE| 1BRi%@10:30 Bz (kAFERSE)
11:05 283 150.0 2.888 FA| 1Bi&e11:05 Bzh (RAEREE)
11:40 283 150.0 2. 888 FH| FHA@11:40 Bzh (REBERSE)
12:15 283 150.0 2.888 |/\fu| FhHEA@12:15 Bz (REAEHE)
12:50 283 150.0 2.888 |/\fu| FhHA@12:50 Bz (KREEREE)
13:25 283 150.0 2.888 |[/\i| FiHRe13:25 Bzh (REEEE)
14:00 283 150.0 2.888 |[/\if| FiHBe14:00 Bzh (REAEESE)
14:35 283 150. 0 2.888 |/\M| FmHR@14:35 Bz (KAEESR)
15:10 283 150.0 2.888 |[/\ifi| FuHBe15:10 Bzh (GREEESE)
15:50 283 150.0 2.888 |/\f| FhHA@15:50 Bz (REERESE)
16:35 283 150.0 2.888 |/\fiy| FnHAe16:35 BHzh (RAAIEREE)
21t 4245.0 (15)%) 2250. 0 32IHEKEC: 2200, PH: 5.6

WERRNEREEFEEART (184.0 : 153.0), AgEHF—@E XAH5
ZRIALBRIERE153.0 ml.

REGZ NS KBRPH 5.6, B THEARHAZIFEZhFIEPH, 15F A%
FREBUFE I A RIHREC 2200.0



ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=72.0 (2025-06-13)
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-12

AyiE) | EBIAT (FD) | EBE (EH/4) | BEBRERE (B/R) XS ERR

05:35 283 150.0 2.888 FE| 1BRi%@05:35 B (FkAERRSE)
06:35 283 150.0 2. 888 FE| 1BRi%@06:35 Bz (kBEREE)
08:40 283 150.0 2.888 FH| 1BRi%@08:40 Bzh (KABERSE)
12:55 283 150.0 2.888 |K/| f{Ri&e12:55 Bzl (REAERSE)
13:40 283 150.0 2. 888 FE| 1BRi%@13:40 Bz (kBERSE)
14:25 283 150.0 2.888 FA| {Ri&e14:25 Bzl CGRAEREE)
15:15 283 150.0 2.888 |Z=| fBRige15:15 Bzh (RAEESE)
16:30 283 150.0 2.888 |Z=| {Ri%e16:30 Bz (KREAEHE)
23t 2264.0 (8%) 1200.0 32 HE%KEC: 2200, PH: 5.6

TERRHLER 2 STEIELRTF (184.0 :

ZRIAKFREBRE153. 0 ml.
large discrepency for begining water status (254:81.0), set to 254 ml.

REVZ WS RIERPH 5.6, BT FEFNIEIZPH, FEFohiFE

FH[EKECE (1803.0 vs 3590.0) id 5
FREVEIN S K KEC 2200. 0

153.0), AlEEHT—@ L XA HS
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ET (ml/hr/plant)

P3-12_0, Day=71 (2025-06-12)
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T
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m=435,m FV0=0

T
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m=925, FV0=0
01 o mw
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—— MW
51 1
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P3-12

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

08:00 283 150.0 2.888 RS {Ri&@08:00 Hah (KAL)
08:35 283 150.0 2.888 BE| 1BRi%e08:35 Bz (KL
09:25 283 150.0 2.888 | {Ri%@09:25 Bz (REERESE)
10:05 283 150. 0 2.888 S| Ri&@10:05 Bal (REAEHSE)
10:45 283 150.0 2.888 BS| 1Ri%e10:45 Bz CGGREEESE)
11:20 283 150.0 2. 888 Bl Rige11:20 Bal (REEESE)
11:55 283 150.0 2.888 S| 1Rige11:55 Bah (REERESE)
12:30 283 150.0 2.888 B 1Ri%e12:30 B3 (GREMEESE)
13:00 283 150.0 2. 888 S| 1Ri%e13:00 B (RFEA{EREE)
13:30 283 150.0 2.888 el Rige13:30 Bal (REAERESE)
14:05 283 150.0 2.888 RS Rige14:05 Bz (REAEHE)
14:40 283 150.0 2. 888 BE| Ri%e14:40 B (GRF{EREE)
15:15 283 150.0 2.888 B Rige15:15 Bzt (REERSE)
15:50 283 150.0 2.888 BE| Rige15:50 Ba (REAERE)
16:40 283 150.0 2. 888 BE| 1Ri%e16:40 Bz (RF{EREE)
21t 4245.0 (15)%) 2250. 0 32 FE%KEC: 2190, PH: 5.8

WERRNEREEFEEART (184.0 : 153.0), AgEHF—@E XAH5
ZRIALBRIERE153.0 ml.

WREY S RFRPH 5. 77, B THERHAZIFESIAIEPH, 5F A%
HEEIHECE (1847.0 vs 3873.0) 5

FREVRIN S K IKEC 2194.0



P3-12_0, Day=70 (2025-06-11)
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Warning: lcol ["WC1',  "WC2'] missing
0.0
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0.2 -
Warning: lcol ['ECB’,| 'ECC’'] missing
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0.0 |
— Bylnit @D72 11:45: ET=3156 Fg=3300.0 Ro=192.0 : t —
£ 400 - i 4000 %
o 1 =
e I —o—o— - 3000 &
£ | :
= 200 - - 2000
=~ ¥
o \ - 1000 3
P —— =— — = = e ——— 0
0 1 2 3 4 5 6 7 8 9 |10 11 |12 13 | 14 ] 15 ] 16 | 17 [ 18 [ 19 ] 20 [ 21 | 22 [ 23
2 400 B | B | B | BB | B| B RS 5 5 5 B 5 5 5 B 5 5 A EXERFSWE
c g 1 c
= : : = = = 1 S
= ByEt @D70 19:36: ET=2342 Fg=2601.0 Ro=nan ! 3000 =
£ i E
= 200 - - 2000
~ L
= L1000 5
0 —=  — — 2 0
0 1 2 3 4 5 6 7 8 9 [ 10 | 11 [ 12 | 13 [ 14 ] 15 [ 16 | 17 [ 18 [ 19 ] 20 [ 21 | 22 [ 23
2 400 R R G & 5 5 5 B 5 5 5 AEAREF R EFEFSEZA VI
c E ] c
= . . = = = 1 8
= ByWoFv @D72 11:45: ET=2022 Fg=2250.0 Ro=460.0 ! 3000 =
£ | G
= 200 | y/lf - 2000
~ L
= L1000 5
10—  — — 2 0
2 3 5 6 7 8 9 |10 11 [12 ] 13 | 14 ] 15 ] 16 | 17 [ 18 [ 19 ] 20 [ 21 | 22 [ 23
osl B | FE | B [R5 [ B [ B [R5 [ RE | RS | BS & 5 5 5 B 5 5 5 B R EEEEREEERAEES
0. 6 -
0.4 -
0.2 -
1800 3
—_— 4

1000 A —@— PPFD_obs

500 -

80 A
60

40 -

20 [ ) RHo_obs

[ ] | _obs

RH
[ ] RH_obs




29.

29.

29.

29,

28.

30.

30.

29.

29.

29.

29.

30.

30.

30.

30.

29.

29.

400

T T T
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28. 8 -
28.6 -
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30.0 - o It
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P3-12

BflE) | GEBRTK () | ERE (EA/) | EREE(B/R) | XS ERR

07:15 283 150.0 2.888 BE| {Ri&e07:15 Bal (REAEHE)
07:55 283 150.0 2. 888 BE| 1Ri%e07:55 B3 (REERESE)
08:35 283 150.0 2. 888 BE| {Ri&e08:35 Bl (REEEE)
09:15 283 150.0 2.888 RSl Ri&e09:15 BHal (REAEHE)
10:15 283 150.0 2.888 BS| 1Ri%e10:15 Bz CGGREMEESE)
11:00 283 150.0 2. 888 Bl Rige11:00 Bal (REEESE)
11:45 283 150.0 2.888 B Rige11:45 Bz (REAERSE)
12:30 283 150.0 2.888 S| Rige12:30 Bz (REAERE)
13:05 283 150.0 2. 888 S| 1Ri%e13:05 B (RFA{EREE)
13:40 283 150.0 2.888 el Rige13:40 Bal (REAEREE)
14:15 283 150.0 2.888 S| Rige14:15 Bz (REAERE)
14:55 283 150.0 2. 888 BE| {Ri%e14:55 Bz (GRF{EREE)
15:35 283 150.0 2.888 sl {Ri&e15:35 Ba) (REAEEE)
16:20 283 150.0 2.888 S| Ri%016:20 Bz (REAERESE)
17:15 283 150.0 2. 888 BE| Ri%e17:15 B GGRE{EREE)
21t 4245.0 (15)%) 2250. 0 32 03%EC: 2130, PH: 5.8

FEREHEME STEAEARST (184.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (329:69.0), set to 329 ml.
WEVEY S R EPH 5. 77, BTN AZEFEINBIEPH, 15F AR
BE[EIRECE (1887.0 vs 4103.0) T 5

HEEZ NS RFHIREC 2126.0



ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=69 (2025-06-10)

150 e =]
VI, VO, FRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 2760 - 3000
2208 2300 250
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Warning: lcol [FVI',| "FVO’'] missing
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( o v
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2657. 0, setECB=2130

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-12

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

08:20 283 150.0 2.888 |Z=| {Ri&e08:20 Bz (KREEEE)
09:30 283 150.0 2.888 |Z=| {Ri%e09:30 Bz (REAEHE)
10:20 283 150.0 2.888 |Z=| {Ri%e10:20 Bz (KREAEHE)
11:10 283 150.0 2.888 |Z=| Bige11:10 Bz (REEHE)
12:00 283 150.0 2.888 |Z=| {Ri%e12:00 Bz (REAEZEHE)
13:05 283 150.0 2.888 |/ifE| {Ri&e13:05 Bz (KREAEHSE)
13:50 283 150.0 2.888 |[/\i| 1Ri%@13:50 B3h (GREEESE)
14:30 283 150.0 2.888 FH| 1Ri%@14:30 B3h (RkAERSE)
15:10 283 150.0 2.888 |Z=| {Rige15:10 Bz (REAEHE)
16:25 283 150.0 2.888 |Z=| 1BRige16:25 Bzh (RAERESE)
21t 2830.0 (10)%) 1500. 0 323 KEC: 2060, PH: 5.9

MEREHLER 2 5 FEIELRT (184.0
ZRIALBRIERE150. 0 ml.

150.0), FAEEHT—@ % XA HS

large discrepency for begining water status (300:93.0), set to 300 ml.
HERV Y S RFEEPH 5. 93

¥ [E];%ECE (1897.0 vs 4260.0) 35
IRV S RIFHIREC 2057.0




ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=68 (2025-06-09)

R S i et
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40 , e 60
Warning: lcol [FVI',| "FVO’'] missing

S
S
FRV (ml plant-1)

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2571.0, setECB=2060

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing
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